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General Instructions :

Read
(1)
(i2)

the following instructions carefully and follow them :
This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :
Section — A : Macro Economics
Section — B : Indian Economic Development

(itt) This Question paper contains 20 Multiple Choice type questions. Each

question carries 1 mark.

(iv) This Question paper contains 4 Short Answer Type-I questions. Each

(v)

question carries 3 marks. Answer these questions in 60 to 80 words.
This Question paper contains 6 Short Answer Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This Question paper contains 4 Long Answer Type Questions. Each

question carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.
(viit) In addition to this, NOTE that a separate question has been prouvided for

Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired
candidates only.

(ix) There ts no overall choice in the question paper. However, an internal

choice has been prouvided in few questions. Only one of the choices in such
questions has to be attempted.

SECTION - A
(Macro Economics)
1. The monetary policy is formulated by the _ in the Indian economy.
(Choose the correct option to fill up the blank) 1
(A) Central Government (B) State Governments
(C) Reserve Bank of India (D) World Bank
2.  Identify, which of the following is not to be considered while estimating
Revenue Deficit of a country. (Choose the correct option) 1
(A) Wages and salaries paid by the government
(B) Interest payments made by the Central Government
(C) Direct Tax Collection
(D) Expenditure incurred on construction of flyover
3. In the Keynesian Economics, __ starts from the origin and is always drawn
at an angle of 45°. (Choose the correct option to fill up the blank) 1
(A) Consumption curve (B) Aggregate demand curve
(C) Reference line (D) Investment curve
58/2/
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4. Read the following statements : Assertion (A) and Reason (R). Choose one
of the correct options given below :
Assertion (A) : In case of public goods no one can be excluded from
enjoying the benefits.
Reason (R) : Public goods are non-rivalrous and non-excludable in nature.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

5. Value Addition = — Value of Intermediate Consumption.

(Choose the correct option(s) to complete the stated formula.)
(1) Domestic sales

(11) Sales — change in stock

(1i1) Value of output

(1v) (Number of units produced) X (Price per unit)

Options :
(A) (1) and (i1) (B) (i1) and (ii1)
(C) (1), (i) and (iv) (D) (@i1) and (1v)

6. Suppose for an economy, autonomous consumption stands as I 100 crore
and total consumption is T 130 crores. The value of induced consumption

would be crore. (Choose the correct option to fill up the blank)
A) 30 B) 80
(C) 100 (D) 130

7. As the Banker to the Bank, Reserve Bank of India performs all functions
except . (Choose the correct option to fill up the blank)
(A) Purchase and sale of securities on behalf of general public
(B) Maintaining current account for Commercial Banks
(C) Clearing and settlement of Interbank transactions
(D) Facilitating governmental transactions
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Read the following statements : Assertion (A) and Reason (R). Choose one
of the correct options given below :

Assertion (A) : If the value of Marginal Propensity to Save is 0.5,
Marginal Propensity to Consume will be equal to Marginal
Propensity to Save.

Reason (R) : Sum of Marginal Propensity to Consume and Marginal
Propensity to Save always equals to unity.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

9. The budget under, which the government may spend an amount equal to

the revenue it collects is referred as _ Budget.

(Choose the correct option to fill up the blank)
(A) Surplus (B) Deficit
(C) Balanced (D) Deflationary

10. To arrive at the value of equilibrium level of income, there must exists an
equality between ex-ante ___ and ex-ante
(Choose the correct option to fill up the blank)
(1) Aggregate Demand, Aggregate Supply
(1) Aggregate Demand, Savings
(1) Aggregate Demand, Investment

(iv) Savings, Investment

Options :
(A) (1) and (i1) B) @) and (v)
(C) (ii) and (ii1) (D) (@i1) and @(v)

11. State the meaning and significance of Gross Domestic Product (GDP)
deflator.

1
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12. (a)

(b)

13. (A)

B)
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A : FraterRaa e Fae gierea whenfR & foe s vem 13 F M wE |

(A)

B)
14. (a)

(b)
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12. (a) “The government generally levies higher Goods and Services Tax (GST)
on socially undesirable products like cigarettes, tobacco, liquor etc.”
Identify and explain the indicated government budget objective in
the above statement. 3

OR
(b) Two friends Ramesh (a software engineer) and Pihu (a bakery

owner) are discussing their contribution to the nation’s economy
through tax payments. Ramesh earns ¥ 8,00,000 per year, which
makes him liable to pay income tax. Pihu pays Goods and Service
Tax (GST) on the sale of cakes and pastries.
On the basis of the given text, identify whether Ramesh is paying a
direct tax or an indirect tax. Explain valid differences between two
types of taxes. 3

13. (A) On the basis of the given image, explain the steps which may be
taken by the Government of India to control the indicated macro-
economic issue. 3

(B) Define ‘Open Market Operations’. - 1
Note: The following questions are for the Visually Impaired
Candidates only in lieu of Q. No. 13.

(A) Explain any one fiscal policy measure that can be taken up by the
Government to control the situation of inflation prevailing in an economy. 3

(B) Define ‘Open Market Operations’. 1
14. (a) Justify the following statements with valid arguments :
(1) Money supply in an economy is an example of a stock variable. 2
(1) The Central Bank provides several Banking services to the
government. 2
OR

(b) Assuming for a hypothetical economy, Central Bank increases the
Reserve Ratio from 20% to 25% and the total primary deposits stand

at < 1,000.

Explain the effect of rise in Reserve Ratio on credit creation by

commercial banks. 4
58/2/1 ~ 9|Page Eﬁ.@ P.T.O.
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. . afe
T " @S
(1) | Ff sifag sqam == 2,000
(2) | TR 3fa U = 1,500
(3) | oot mie] Feem dSft ooy 1,000
(4) | wf® HaiEd (3f8) 400
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6) | e @ wg fraet wr 3 100
(7 | Yg AT H 200
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(i) dRifereh JoITE qeI Hifoeh T8 H 3T TIF i |
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(b) @) TR T H, 0 By feamst i er T H 77U TH gée IR
fora 2 | foshl & fote w9 a9 & e 3em we forets aefia, puer, se «
T 559 TohU 7 | 3 qeft aeqd hue s % for 3tmave & |
et g 5h3 TohT TTT | <t 3ifem sregati o mesrad! awqant # 99 SRei g
Ffiehd = |
(i) “ueh fg—&rreh rieraen #, TS 31 Hed ool 37 % S il 2 17
T RO GRT YU U 1 THUT YT e H |
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15. Suppose for an economy, government proposes project for construction of

expressways with an incremental investment of ¥ 1200 crore. Assuming,

80% of increase in income is spent on consumption.

Estimate the following on the basis of above information :

(a) Change in income (AY).

(b) Change in consumption (AC). 2
16. (a) (1) On the basis of the data given below, estimate the value of
National Income (NNP) 4
Amount
S. No. Items .
R in crore)
(D) Private final consumption expenditure 2,000
(2) Government final consumption expenditure 1,500
3) Gross domestic fixed capital formation 1,000
(4) Addition to stock 400
5) Consumption of fixed capital 50
(6) Net factor income from abroad 100
@) Net indirect Taxes 200
(8) Net Exports 700
(1) Differentiate between Real flow and Money flow. 2
OR
(b) (1) Gauhar, has recently completed her fashion designing studies
and started a boutique. To produce dresses for sale, she
purchased various materials, including a sewing machine,
fabric, buttons and thread. These items are essential for
producing the dresses.
Classify the material purchased by Gauhar as Final or
Intermediate goods, giving valid reasons in support of the
classifications. 4
(1) “National Income is always equal to Domestic income in a two
sector economy.”
Defend or refute the given statement with valid reasons. 2
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Source : https : / mospi.gov.in/109-balance — payments

(adopted and modified)
IO T o T 1 6 3R 9L feferiigd gl o 3T e

(a) A HqeH I TR i |
(b) YA T o QI @l o HE 3L TF Y |
(c) TA T h E1e T 371 T Tfed amd |
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17. Read the following text carefully :
Balance of Payments (BoP) systematically summarise, the economic
transactions of an economy with the rest of the world, over a given period
of time.
The BoP can be broadly divided into two accounts namely :
o current account
° capital account
The current account measures the transfer of goods, services, income and
transfers between an economy and rest of the world. The current account
may be sub-divided into merchandise account and invisible account.

Merchandise account consists of transactions related to export and import

of goods.

In the invisible account, there are three broad categories :

° Non-factor services such as travel, transportation, insurance etc.

° Transfer which do not involve any value in exchange.

. Income which includes compensation of employees and investment
income.

The capital account reflects the net changes in financial claims on rest of

the world.

The capital account can be broadly broken up into two categories :

o Non-debt flows such as direct and portfolio investments.

. Debt flows such as external assistance, commercial borrowings, non-
resident deposits etc.

The sum of the two accounts indicates the overall balance, which could be

either be in surplus or deficit. The movement in overall balance is

reflected in changes in international reserves of the country.

Source : https : // mospi.gov.in/109-balance — payments

(adopted and modified)

On the basis of the given text and common understanding, answer the

following questions :

(a) Define Balance of Payments.

(b) Differentiate between the two accounts of Balance of Payments.

(¢) Give the meaning of Balance of Payments deficit with formula.

58/2/1 ~ 13|Page ElE P.T.O.
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() Trafia aawrf wd=mh D) w@-fafia
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SECTION -B
(Indian Economic Development)

18. of agriculture refers to production of crops for sale in the open
market rather than for self consumption purpose. 1
(A) Commercialisation (B) Daiversification
(C) Digitisation (D) Modernisation
19. Read the following statements carefully : 1
Statement 1 : In 1978, commune lands were divided into small plots to the
individual households for cultivation.
Statement 2 : Under commune system, professionals were sent to work
and learn from the country side.
In the light of the given statements, choose the correct option from the following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both statements 1 and 2 are true.
(D) Both statements 1 and 2 are false.
20. Identify, the options that emphasize the role of information and
technology. 1
(1) Achieving sustainable development
(1) Attainment of food security
(ii1) Disseminates information regarding emerging technologies.
Options :
(A) Only @) (B) Only (i)
(C) (1) and (i1) (D) (@), (1) and (iii)
21. Read the following statements : Assertion (A) and Reason (R). Choose one
of the correct options given below : 1
Assertion (A) : Under the land reforms, Indian government fixed the
minimum land size which could be owned by an individual.
Reason (R) : The purpose of land ceiling was to avoid the concentration
of land ownership in a few hands.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
22. are the people who operate their own farms / enterprises.
(Choose the correct option to fill up the blank) 1
(A) Hired Workers (B) Casual Wage Workers
(C) Regular Salaried Employees (D) Self-Employed
58/2/1 ~ 15|Page E&_,E' P.T.O.
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23.

24.

25.

26.

iy forgur ek Wt witken 2, for iy awqat = Tftfora g 2 | 1
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Q) Fsfe () TEEH
(iii) HISH (iv) ofem
ferpey -
A) @) 3G) B) (@i) T (i)
©) @), )9 @) D) (1), ()9 Gv)
39 foram o 3menid 2 Tom, T3mem o Tomees a1 shodmor & AR 3 # | 1
(ks T &1 gfd vt <k forte @it forehe 1 =m L 1)
(A) HE FETEA (B) HHa forbr
(C) =Ha gSft (D) 3 ferepmd
BTt o 91 4, gt sehi i ST o AT @1 @i o ot Tedniad fomam
EickA (feh T <6t qfd o foru wret forepea w1 =@ 6t ) 1
(A) SH-TF AT (B) -3 TS
(C)  FH-F=AT AT (D) H-ART IS
fearm e fa= 1990-92 % 3uE, Wi e § H I HI AT HATE | 1
(feh T <t gfd o forw @&t farehew s =@ 6t )
TR Fieg 3R HeheT e 3G, 1951-2012 (%)
81 78
GDP — ¥R
ey
(A) HHEEA BT SRR (B) ¥9E T AR
(C) TSFTIEH w9fg (D) RIS T ST IR
A : FrfcTRaa e haet giRaTier ThEfeR o foTe e Je 26 F MW |
et feufa fmes siaria t srederazen fomm Usm # gfg & anfdiss gfg wm st 2,
HEATA B | (@t forehen g Tk werm <61 gfid =t 1) 1
foreea
(A) HESH T IR (B) S Bl IR
(C) TSHIEN wqfg (D) RIS I SR
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23.

24.

25.

26.

Agricultural marketing is a process that involves the of agricultural
commodities. (Choose the correct option to fill up the blank) 1
(1) Privatisation (1) Processing
(111) Assembling (iv) Grading
Options :
(A) (@) and (i1) (B) (1) and (iii)
(C) (@), (11) and (1i1) (D) (@1), (1i1) and (iv)

is based on the idea that education and health are integral to
human well-being. (Choose the correct option to fill up the blank) 1
(A) Human Resource (B) Human Development
(C) Human Capital (D) Economic Development
In recent years, all the adults are encouraged to open bank accounts as a

part of a scheme known as
(Choose the correct option to fill up the blank) 1

(A) Jan-Dhan Yojana (B) Jan-Aushadhi Yojana
(C) Jan-Soochna Yojana (D) Jan-Arogya Yojana
The given chart indicates the problem of in the Indian Economy,
post 1990-92. (Choose the correct option to fill up the blank) 1
Growth of Employment and Gross Domestic
Product, 1951-2012 (%)
104
94 8.7
81 78
(7;: 5.7 5.8 o1
5 3.4
3.6 1.2 48
4 55 58
2: 1.99 184 173 189
14039 112
0 T T T T T T T T T T Olzs 1
1951-56 1956-61 1961-66 1969-74 1974-79 1980-85 1985-90 1990-92 1997-2000 1999-2005 2005-10 2010-2012*
GDP —— Employment
Note : *This is the period for which comparable and authentic data are available.

Options :
(A) Informalisation of Workforce (B) Casualisation of Workforce
(C) Jobless Growth (D) Formalisation of Workforce

Note : The following question is for the Visually Impaired
Candidates only in lieu of Q. No. 26.
The situation under which an economy attains economic growth without
corresponding rise in employment is known as .
(Fill up the blank with correct option) 1

Options :
(A) Informalisation of Workforce (B) Casualisation of Workforce
(C) Jobless Growth (D) Formalisation of Workforce
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27.

28.

29.

30.

31.

fafeTiad e o1 eagEeh JTEH i

HIA 1 : HIT T Y o HEY b SGHAT o HIVT, IFARTE IATG o FGHUT hl GG
foad iR g e E |

HYT 2 : TIAEUT Hehe q9 I BIAT 8, ST HHTEH] o Shul hl e HETEHT &
T H T AR 2 |

feu e % e fefotad 5 & Tt fosped 54 -

(A) FH 1TALINFIA23AE | (B) HU 1 WA EINFYT 2T R |

(C) S 1323 A E | (D) U 13 2 T FEAE |

(a) T FAHThI bl TRUTINT |
(b) Tor=ei g1 TarHaT gehiehl 1 Iooi@ Y |

(a) TN T Y ST 6 I A WA & | B J TS BN sl § faw foma,
MY iV 61 Tohieh HRET T 3 TSGU I FT IR, JaT FaeH, hie TR
3fe < watam qdei w1 widernr vem fea |
SrafeR, e 3 3+1q Y Wi, = yoneft 9 3= TurEan e i % W
ot ferarr femam |
T 37T 39 1 | T9d & fob, e ara doft o frerwr o g
310 I T § W= HR0T S |

JrerE
(b) “wfmeft smfdm, fafrcda smafdam a oy smfdam w == 97 G 9
3Teieh ferepTar = fomioT o S HeEdT T g |7
T 37T 3T BT T TGAA & 7 379 ST o THY T T deh T . |

“SIST 3 WY ks T forhra % oy fohe, S foh e w9 & 3k fasht e @ S
g "
Jfufafies ger grn fohy U dErTeHes fashE & D o ferdl Q1 SR Y Hag |
T B |
(a) “B % feai ° T It o ifadi o 1w 9 qrd SR 3 Il /90 ®9 9
TSR FoH o foTu Hewgel veet i & |7
HT=T <Tehi °h T ITUTH HU <l IfY i |
YT
(b) “Wﬁwweﬁmﬂﬁammﬁﬁ&ﬂW(mmro
credit) SR 3Tfd IR @ & 17
AT 319 T T HYF | TgHd & ? 3T I b UL H I T e hi |
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27. Read the following statements carefully : 1

Statement 1 : Environmental concerns of waste generation and pollution
have become critical, due to reversal of demand and supply relationship.

Statement 2 : Environmental crisis happens, when the rate of resource
extraction is less than that of regeneration of resource.

In the light of the given statements, choose the correct option from the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both statements 1 and 2 are true.

(D) Both statements 1 and 2 are false.

28. (a) Define liberty indicator. 1
(b) State any two liberty indicators. 2
29. (a) Medhya and Danish both had their own farms. Medhya invested in a
few agricultural courses, learnt modern farming techniques and
trained her labourers on best practices related to soil fertility, crop
management, pest control etc.
Whereas, Danish invested heavily in, by purchasing advanced
farming machinery, irrigation systems and high quality seeds.
Do you agree that, Danish had made investment in human capital ?
Give valid reason in support of your answer. 3
OR
(b) “Expenditure on preventive medicine, curative medicine and social
medicine helps in building human capital and economic
development.”
Do you agree with the given statement ? Give valid arguments in
support of your answer. 3
30. “The British introduced many infrastructural development project, which
was largely driven by its own self-serving interest”.
Briefly explain any two main causes behind the infrastructural
development undertaken by the colonial government. 4
31. (a) “In the recent times through various schemes and policies, the
Government of India has taken wvital initiatives to generate
employment directly / indirectly.”
Justify the statement giving valid arguments. 4
OR
(b) “Micro credit programmes have been very helpful in supporting rural
development and improving livelihoods in India.”
Do you agree with the given statement ? Give valid reasons in
support of your answer. 4
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32. feu MU srferel & MR W, WRA 9 HH H HRIE & [0 9 35 Tohel Tod qeq i

feeterl =h1 g < | 4
2018-2019 ¥ USAR 3R GVA (%) T & 3
& GVA %! IreH FHREA F1
YRa | 99 | WifhwE | WRa | W qrferEaH
Eat] 16 7 24 43 26 41
I 30 41 19 25 28 24
[T 54 52 57 32 46 35
A 100 | 100 100 100 | 100 100

Source : Human Development Report 2019 : Key Indicators of Asia and Pacific 2019.

33. (a) (1) “gfa shifd I TeaTied S & ot TR TEHR 7 Jei6hi W IUCH JeH foha
o1 |”
3H T % IUCH o U1 1 feredl G |1 qieh! b1 GieTH sxmE o | 3
(i) “8 ITFER, 2021 i Th TR o JIEAR, YA TR 1 TR gfean §
100% Teetert st forshl ot & | e e & Wt weemues 2 5 3 Sl
iRt T ATEH T 3 18,000 IS § 3 feharm |
(1) ¥Rd TR g 33T 3H heH <! T&= i | 1
(2) YR g UEaH 7T heH i fratf=rd & o foheal el aiishl o1 Iooid
&t | 2
1T
(b) () «1991 % 3Iud, faesht &ureh T guwi & wRo faesfht gg1 yamg & 3w |
T g I
STITE e 6T 94 TRl gRT I | 3
(i) “FHT AR H A AEAH & T WA Sreferewen § gere qfieet
e i TS ot |
YA TR gRT 33T 71T heH o U o deb ohl TcATTd e | 3
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32. On the basis of the given data, compare and analyse the Distribution of
workforce and its contribution to Gross Value added in India and China. 4
Sectoral Share of Employment and GVA (%) in 2018-2019

Contribution to GVA |Distribution of Workforce
Sector India |China |Pakistan |India |China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100

Source : Human Development Report 2019 : Key Indicators of Asia and
Pacific 2019.

33. (@) (1) “To promote green revolution, the Indian government provided
fertilizer subsidies to the farmers.”
Briefly explain any two arguments in favour of such subsidies. 3
(1) As per a news report dated, 8th Oct. 2021, the Government of
India sold its entire 100% stake in Air India. Tata sons, the
original founder of Air India won the bid and purchased the
airline for ¥ 18,000 crore.
(1) Identify the step taken by the Government of India. 1
(2) State any two ways in which identified step can be
executed by the government. 2
OR
(b) (1) “After 1991, reforms in external sector led to an increase in
foreign exchange inflows”.
Justify the given statement with valid argument. 3
(1) “During the planning period, public sector was given a
dominant role in Indian Economy.”
Justify the rationale behind this step taken by the Government
of India. 3
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34. Tr=ferigd mer 1 erYEs JTe W

SefaTg UiEdd 9 sy gEdiEar o W Heeyyl 48 8, e dftes 'R W e
3TeRfid foRam 7 | forma ot #, forear # Wicepet Sterary waifed genst # gfg 3y 6 8
? | 35 T 31hTeA, WTeet WedT, 91¢, EEeH, Ued gl ¢, 3AThidsh ot d fauer
AR T @At €9 8 fraer aftifed § | STet 8 310 @ o6 gemei 8 R afg
B W 2 | 39 Few o, iy SN U weEqyl GEe % &9 39wt IRl 2 | 3E
AT 37 HiY TGl § 7, S aqwH STavEsharst i qfd sd gu whess i fifewt  foe
TG ] T Ll & | 55T 379 & Top, WH 3UT o9 S b wafaror <6t 18 L g,
TER Hhi T R H0 A &, T T fF 1 HICTTH T HLd & TAT FYh
fore wmmforep 3Tiies T i s 8 |

T T IR Y Tgferl 3Tavah 8, gl 3R 378 AT 1 TRANE HiY hl gorT 1
o 31fereh TR BT § | S $fY, @i Sorary awfies, nyfes g yomedt SE
TR SUTd YR & A& o Tehd] ], T I ScATEshal o TATeR0T HRETUT § GER Hich
ErefehTioreh oY Yg it & | gow 9 Fpwrreh focfia faesreat o o &y weneti 8
TR THEH g AT o ToTq GL T |1 & &1 T |

gafere, vmefi ford i 7 ael TAfeRr 3% TS S WicaTed &, dfeh T ot
Fifeaa w1 =feu foh SEwawe Fuehi Sl Tt TETe 3uerey 2 |

Source : https://website.vbi.org.in/web/rbi/-/speches — interview/financing-

for-sustainable-agriculture (adopted and modified)

ITUH T I T o 3R R feferfigd wei o 3 e :
(a) Tl iy ol aitaTfid |
(b) “Sfaes FYy et amofia HY wgloal TRy & wdh o godt 7, Tg I efbiers

Y YeH HLt g 17
T 9131 H e 1ot digienTioreh aITHl O ==l h |
(c) WINa Y forepmasiia Ug # arefia foremm w1 Micatted S o fofu fonegi g1 wrHifaan
1 IooTd L |
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34. Read the following text carefully :

Climate change and sustainability of environment are two pressing issues
that have captured global attention. In recent years, the world has
witnessed a surge in extreme weather events including severe droughts,
cloud bursts, floods, land slides, receding coastlines and the alarming
melting of arctic ice and Himalayan Glaciers. Wildfires have become more
frequent and intense.
In this context, sustainable agriculture emerges as a crucial solution.
This refers to those farming practices that meet today’s requirements
while preserving resources for the future generation. This means adopting
methods that protect the environment, reduce dependence on chemical
inputs, efficiently using water and land and ensuring socio-economic
equity for farmers.
On one hand sustainable agricultural practices are necessary, on the
other, they are often more expensive to implement compared to
conventional methods. Sustainable practices like organic farming, climate
— smart technologies, modern irrigation system may seem costly upfront,
but they offer long-term benefits by improving productivity, and
environmental stewardship. Without accessible and affordable financing
options, the much needed shift to sustainable farming practices will
remain a distant dream for many.
Therefore, sustainable finance should not only promote eco-friendly
practices but also ensure that financial resources are available to the
farmers who need it.
Source : https://website.vbi.org.in/web/rbi/-/speches — interview/financing-
for-sustainable-agriculture (adopted and modified)
On the basis of the given text and common understanding, answer the
following questions :
(a) Define Sustainable Agriculture.
(b) “Sustainable Agriculture practices, like organic farming may seem
costly initially, but offer long term benefits.”
Discuss the long term benefits these practices can offer.
(c) State any two strategies to promote sustainable development in a
developing country like India.
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